
 ����� ���	 �
��
 - ����� �����  - ���	 ��� �����  : 02 /02 /2016 �� !"�                                                                           :1  
  

 �#$��%#& '�()– *���+ �,"�+ – -./"�  :01��� 2�� ، ��#1��� ، �#4��5 '�()                                                        6�7
8�               : 9��& 0��:�& 

 

 

www.sites.google.com/site/faresfergani 
Fares_Fergani@yahoo.Fr 
 

 

3AS U03 - Exercice 003 
  
  

  (**) ) ���م ���	��� – �2008
���ر	� (  :
ص�א�����ن�

 �� ������:��* ) 2-ا�)
'(�&%�ي ا�#ارة ا�
!��� �� ا� �
-  ,��- � ���!
   .E = 12Vم��# ����. ا�
  .R = 10 Ωن�5' أوم� م�3وم1%  -
  .r و م�3وم%!� Lوش��9 ذا��%!�  -
-  �9;�5K.  

9%�' راF====G اه%====Dاز م!�B====� ذي ذاآ====�ة ، ?<!====�ر ا�%====���	>   -1H====ن 
 <�� �===��!
�===�> ��===* مI===BJ  ا�===#ارة ا�
!��� �===� ، ) . )uCBو uAB ((ا�

�#خ�� هKا ا��!�ز � �� ���!
  .آ� M	F% ر�I ا�#ارة ا�

�� ا��&K �P نN�O ا��3;�9 -2 t = 0 'Q�
'ا�)(  	-3 ( *�&��  . ا��)�ه# ��* راFG اSه%Dاز  ا��!�uBA= f(t) �Bا�
  
  
  
  
  
  
  
  
  
  
  
  
  
  

 ���#م� �V�W ا�#ارة �� ح��� ا���Pم ا�#ا F أوج# �5�:  
  ) .uBA(ا�%��� ا�
!��� � / أ

  ) .uCB(ا�%��� ا�
!��� � / ب
�* ��%��ر ا���ر �� ا�#ارة / جـP9�ا�)#ة ا                      .  
3-�S��  د ��* ا����ن��%)'
�%[ ) . 3-ا�)%Gا:  
�5�� / أ)τ ( ارة#�� D���  .-��, ا�Dم> ا�

  .م�3وم� و ذا��� ا��ش��9 / ب
��� ا��DJن� �� ا��ش��9 -4P�`�5 ا�B�ا aHأح .  
  
  

  .درا�� �
اه� آ������� :ا����
ي ا������ 
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Sujet : 2AS 02 - 01 

  

1- �B�!�  : آ���b ر�I ا�#ارة ��اFG اSه%Dاز ا�
  
  
  
  
  
  
  
  
�# ا���Pم ا�#ا BAu F ا�%���  �5��- أ-2� :  

 F م ا�#ا�P�  :م> ا����ن و ��# ا�
uBA = uBA0 = 10 V 

  
�5�� -ب CBu:   

  :حaH �5ن�ن ج�d ا�%���ات 
uCA = uCB + uBA 

 F م ا�#ا�P�  :و ��# ا�
uCA0 = uCB0 + uBA0 
E = uCB0 + uBA0

 

uCB0 = E – uBA0 
uCB0 = 12 – 10 = 2V  

�* -جـP9�ش#ة ا�%��ر ا :  
uBA = R i 

 F م ا�#ا�P�  :و ��# ا�

uBA0 = RI0  →  
R

u
=I 0BA

0  

A  1 = 
10
10

=I0  

�5�� - أ-3 τ:   
 #���س ��
�ن uBA = E مd ا�t = 0 IJم> خhل �d;�3 ا�	  :τ = 2 . 10-3 s.   

  : م�3وم� و ذا��� ا��ش��9 -ب

▪        R - 
I
E

 =r  → 
I
E

 =r  + R → 
r + R

E
 = I

00
0   

  ــ+

2y1y
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       Ω 2 = 10 - 
1

12
 =r  

▪        r) + R ( τ = L → 
r + R

L
 = τ  

       H 10 . 2.4 = 2) + (10 10 . 2 = L 2-3-  
��� ا��DJن� �� ا��ش��9 -4P�`�5 ا�B�ا :  

       I L 
2

1
 = E 2

0(L)  

       J 10 . 1.2 = (1) 10 . 2.4 . 
2

1
 = E 2-22-

(L)  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  


